
7347 7347.5 7348 7348.5 7349
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

1.2

1.4

1.6

1.8

2

2.2

2.4

2.6

2.8

3

3.2

3.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

6927

6927.5

6928

6928.5

6929

6929.5

6930

6930.5

6931

ru
n

run:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6929}



7347 7347.5 7348 7348.5 7349
cyclenum

120.8−

120.6−

120.4−

120.2−

120−

119.8−

119.6−

119.4−

119.2−

119−

118.8−

118.6−

us
l_

1X

usl_1X:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

1

1.5

2

2.5

3

us
l_

4a
Y

usl_4aY:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

50

50.5

51

51.5

52

us
l_

4e
X

usl_4eX:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

19.5

20

20.5

21

21.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

43−

42.5−

42−

41.5−

41−

us
l_

12
X

usl_12X:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

6927

6927.5

6928

6928.5

6929

6929.5

6930

6930.5

6931

ru
n

run:cyclenum {run == 6929}



7347 7347.5 7348 7348.5 7349
cyclenum

135−

134.5−

134−

133.5−

133−

us
r_

1X

usr_1X:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

1.6

1.8

2

2.2

2.4

2.6

2.8

3

3.2

3.4

3.6

3.8

us
r_

4a
Y

usr_4aY:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

189.5

190

190.5

191

191.5

us
r_

4e
X

usr_4eX:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

11.5

12

12.5

13

13.5

us
r_

4e
Y

usr_4eY:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

38.8−

38.6−

38.4−

38.2−

38−

37.8−

37.6−

37.4−

37.2−

37−

36.8−

36.6−

us
r_

12
X

usr_12X:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

6927

6927.5

6928

6928.5

6929

6929.5

6930

6930.5

6931

ru
n

run:cyclenum {run == 6929}



7347 7347.5 7348 7348.5 7349
cyclenum

35005

35005.2

35005.4

35005.6

35005.8

35006

35006.2

35006.4

35006.6

35006.8

35007

35007.2

us
l_

co
il1

usl_coil1:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

7075.5

7076

7076.5

7077

7077.5

us
l_

co
il3

usl_coil3:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

4356.5

4357

4357.5

4358

4358.5

us
l_

co
il4

usl_coil4:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

1274.5−

1274−

1273.5−

1273−

1272.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

17131.5

17132

17132.5

17133

17133.5

us
l_

co
il7

usl_coil7:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

6927

6927.5

6928

6928.5

6929

6929.5

6930

6930.5

6931

ru
n

run:cyclenum {run == 6929}



7347 7347.5 7348 7348.5 7349
cyclenum

31526−

31525.5−

31525−

31524.5−

31524−

us
r_

co
il1

usr_coil1:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

5861−

5860.5−

5860−

5859.5−

5859−

us
r_

co
il3

usr_coil3:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

3847.2

3847.4

3847.6

3847.8

3848

3848.2

3848.4

3848.6

3848.8

3849

3849.2

3849.4

us
r_

co
il4

usr_coil4:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

790−

789.5−

789−

788.5−

788−

us
r_

co
il6

usr_coil6:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

19635.5

19636

19636.5

19637

19637.5

us
r_

co
il7

usr_coil7:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

6927

6927.5

6928

6928.5

6929

6929.5

6930

6930.5

6931

ru
n

run:cyclenum {run == 6929}



7347 7347.5 7348 7348.5 7349
cyclenum

426.4−

426.2−

426−

425.8−

425.6−

425.4−

425.2−

425−

424.8−

424.6−

424.4−

424.2−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

70−

69.5−

69−

68.5−

68−1X
_c

oi
l3

1X_coil3:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

32

32.5

33

33.5

34

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

514.4−

514.2−

514−

513.8−

513.6−

513.4−

513.2−

513−

512.8−

512.6−

512.4−

512.2−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

98−

97.5−

97−

96.5−

96−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

33.6

33.8

34

34.2

34.4

34.6

34.8

35

35.2

35.4

35.6

35.8

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6929}



7347 7347.5 7348 7348.5 7349
cyclenum

173

173.2

173.4

173.6

173.8

174

174.2

174.4

174.6

174.8

175

175.2

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

33.6

33.8

34

34.2

34.4

34.6

34.8

35

35.2

35.4

35.6

35.8

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

13−

12.5−

12−

11.5−

11−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

182.5

183

183.5

184

184.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

30.4−

30.2−

30−

29.8−

29.6−

29.4−

29.2−

29−

28.8−

28.6−

28.4−

28.2−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

10.5−

10−

9.5−

9−

8.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6929}



7347 7347.5 7348 7348.5 7349
cyclenum

244−

243.5−

243−

242.5−

242−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

88.5−

88−

87.5−

87−

86.5−12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

4−

3.5−

3−

2.5−

2−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

6.5

7

7.5

8

8.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

467.4−

467.2−

467−

466.8−

466.6−

466.4−

466.2−

466−

465.8−

465.6−

465.4−

465.2−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6929}

7347 7347.5 7348 7348.5 7349
cyclenum

6927

6927.5

6928

6928.5

6929

6929.5

6930

6930.5

6931

ru
n

run:cyclenum {run == 6929}


	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8


